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DECOMPOSITION NOMBRES DECIMAUX. - https://wiw. toupty. con

Classe de 6°

Exercice 1

Compléter avec un nombre décimal :

1
1. 8% — +4
>1. 8% 750 74> Tooo

+9x1=..............

»2. 9 X +5x14+1x10=................

1000

1
3. Ax14+6x1000+2% — = 000
3. 4xltbx 22X 900

Exercice 2

Compléter avec un nombre décimal :

1
>1. 1><1—|—7><1—0—|—4><100: .................

1 1
2. 1 — —— e
»2. 8 X 0+3><10+7><100

1
. —+4x1 1x10=.............
>3 5><100+ x 1000+ 1 x 10

Exercice 3
Compléter avec un nombre décimal :
1. 2x1004+7x10004+2x1=........coo..n.

»2. 8 X

1x14+4x1000=.............
1000—|-><+><000

1 1
35X — 4 OX 104+ 8 X —— =
3. 0TI A0H S XI5y

Exercice 4

Compléter avec un nombre décimal :

1
1. 1+ —+ — =
»1. 6 X 5><10 5><100

»2. 4 x

1 1 =
1000—|—6>< 048 x 1000

1
»3. 4X1+7X10+7XE: ..................

Exercice 5

Compléter avec un nombre décimal :

1
»1. 1><1+1><1—0+9><100: .................
2. 4 ! +Tx1+7 !
»2. 4 x — X X e =
100 10

1
6x10+4x —=..............
+ + 10

1
»3. 4
* 1000

»4.
»5.

»6.

»4.

»5.
»6.

»4.

»5.
»6.

»4.

»5.

»6.

»4.

»5.

»6.

2x1
X OO(H—3><1000 10
3x10004+6x10+9x1=...

1
+3X —=...

1
6 x100+5x1000+9 X —=............

100

6x104+6x14+7x100=....

1
Ax —+4x10=
0 00 T4 1o A0

8x100+8x10+1x1=....

1
8X1OOO+1X1+6XE:”'

1

92 % 10 + 6 9x ——.
XX 000 T 10

8x14+5x104+7x1000=...

1
041% —tl1x — —
5 x 10+ 1 x5+ 1 X 7500

1
8><100+7><1—0+7><10:...

7 %

1
6x100+1x — —
Togo O Ixgg

1
4x14+8x10004+6X —=.
* + 100

6x 9%t gx L
007 1077 1000~

1
7><1000+6><1—0+7><100:
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